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1. ‘e gE1 W HAR-HAerEn wfafa’ & s o
frAfafea wu | faar wifa:
1. foa wfea gum w1 &t s1eaera o forerenidt
I TTfad SHR-warrert |itfa gr foa wamer™
% Tme Rl weqd &t T
2. 79 wibfa 3 faceand @ @ SE o=
[t f1oft forereidi W gfqay @ &t
o =1 21
3. 3@ wfbfa 4 oot fu & W forereidt
yfdey wd snfuerier fefsea gz famm
fadee, 20197 1 FHE off &qa fmam

IwE wUA W 9 SE-FUA w1 282
(a) e 1 (b) Hae 1 3R 2
(c) ®ad 2 3R 3 (@ 1,2 3R 3

2. ' SUERT WRET fagEe, 2019 % dgd IuHERIS
% e RN 1 T foman w7, Fe wnfie
=
1. T e SR St w1 W  faee
Y& & AT, S Sfed 3R gt & ferd
Sifaget 2|
2. a&gsll a1 Hanew i Tured, "N, Y,
A I Jod &1 SR 9 gl
3. wfagicas qea W o SN Hel Suete
A HT STTETEA Y ST
4. Tfaa = gfqefya =R & fefa 5 gatest
Ealinicxef
he:
(a) Facd 1 32 (b) o 2 3R 3
(c) ®ad 1,3 3 4 (d) 1,2,3 2 4
3. ‘T 9 (FenEE) sfufem, 2019 % el o
ffafed wa W foer Fife:
1. =8 rfufam & gy 25 T & afaed
Tt 1 fawiiet v e €
2. 39 Ifufem § &g R & ol Aiet amea
el FIU % TS HT 96 HE T © S
IRd H GgF 1 STAM I el bl e
S HE YSH HM
3. 3@ Afufag o gmma & o & Seosa
R O drel A i AR w2
ST wedl § 9 HA-T/A T TR 287
(a) Ta 2 (b) woe 1 3R 3
(c) ®ael 2 3R 3 (d) 1,2 3R 3

1. Consider the following statements in the Context of
‘Inter-ministerial Committee on Virtual Currency’:

1. A report was presented before the Finance
Ministry by the Inter-ministerial Committee
constituted for Cryptocurrency, headed by
the Finance Secretary Subhash Garg.

2. This Committee has recommended
banning Bitcoin and all such private
cryptocurrencies.

3. Along with its report, this committee
also presented its draft ‘Banning of
Cryptocurrency & Regulation of Official
Digital Currency Bill, 2019.

Which of the statement(s) given above is/are correct?
(b) 1and2 only
(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

2. Several rights of consumers have been clarified
under the ‘Consumer Protection Bill, 2019’ which
include-

1. To provide protection against marketing of
goods and services are hazardous to life and
property.

2. To have information of quality, quantity,
purity, standard and price of goods or
services.

3. To be assured of providing goods and
services at a competitive price.

4. To demand for compensation in the event of
inappropriate or restricted trade.

Code:

(a) 1 and 2 only
(c) 1,3 and 4 only

(b) 2and 3 only
(d 1,2,3and 4

3. Consider the following statements in the Context
of “Motor Vehicles (Amendment) Act, 2019°:

1. The provisions of this Act are based on
the recommendations of the Ministers of
Transport of 25 states.

2. This Act envisages the constitution of
a Motor Vehicle Accident Fund for the
Central Government, which will provide
mandatory insurance cover to road users in
India.

3. In this Act, the amount of penalty for
violation of traffic rules has been reduced.

Which of the statement(s) given above is/are not
correct?

(a) 2 only

(c) 2 and 3 only

(b) 1and 3 only
(d) 1,2and3
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4, 'g= w1 SfueR (Wened) faeEeR, 20197 &
e o fr=fafed woml | fo=m Fifs@:
1. T WY % SRR, T Il A iR
AT MY HT HEBE F5 TER GRI
fruifta foran s

2. FEA N AT F TH T I LA
ol AR 10 S FaT ST HI
TEH § SR g FrfR wufa g
St 21

ST oAl § 9 wA-E/A TE 2R

(a) ®ad 1 (b) Faad 2

(c) 1 &R 2 <t (d T 1, T2
5. ‘geca fRemea’ & ded H frAfafed sweAl ™

fo=m wifsE:

1. I8 U &g ST e §, s fam
e & T fawm & fee 2

2. I8 3 faum TSt wrE- fadst g
weuA tfufEm, 1999 (HH) R o Wi
Ty eAfufEm, 2002 (feATaw) &
W ol AN HE BT HE B

ST oAl ¥ 9 HA-A/A T 22

(a) HaA 1 (b) Haa 2

(c) 1 3R 2 T (d Fd 1,72
6. ‘UL HTA FHEA ArEIEEEr & oged #

ffafed wa W foer Fife:

. 98 UH fg-=tgem T ® W wRde
FHutEi o Hefad gea W ol < 2

2. T A &UA SIUfEHE, 2013 & €W
18 & dgd foan = em

3. 34 % dxe e €, fod o Reeht o
= s ©

STgF weAl ¥ W wH-G/A w22

(a) T 1

(b) ee 1 3R 2

(c) ®ad 2 3R 3

(d) 1,2 3R 3

7. ‘distt wh' -

(a) e fram & fod wemd -1 @ A

(b) HrEnEEt Jaa feer wieren

(c) Tl & I A HT Th THid

(d) ST § ¥ FE 7

4. Consider the following statements in the Context
of ‘Right to Information (Amendment) Bill, 2019’:

1. According to this amendment, the tenure
of the Chief Information Commissioner
and Information Commissioners will be
determined by the Central Government.

2. The Central Information Commission
has a provision of one Chief Information
Commissioner and a maximum of 10
Central Information Commissioners and
they are appointed by the President.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2

5. Consider the following statements in the context
of ‘Enforcement Directorate’:

1. It is a multi-disciplinary organization which
is part of the Department of Revenue of the
Ministry of Finance.

2. It serves to enforce the provisions of two
special fiscal laws — the Foreign Exchange
Management Act, 1999 (FEMA) and the
Prevention of Money Laundering Act, 2002

(PMLA).
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1, nor 2

6. Consider the following statements in the context
of ‘National Company Law Tribunal’:

1. Itisaquasi-judicial body that gives decisions
on issues related to Indian companies.

2. It was constituted under Section 18 of the
Companies Act, 2013.

3. It has a total of fifteen benches with three
benches in New Delhi.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 1and 2 only

(c) 2 and 3 only

(d) 1,2and 3

7. ‘Ponzi Scheme’ is —
(a) A scheme being run for poor farmers.
(b) A fraudulent investing scam.
(c) A method to measure black money .
(d) None of the above
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8. 'ThRe W' & Wed ¥ fefafad FHeml T
foar =ifs:
1. 3ThISS WX U a9 uifia yoredt @
S i1 WehR & SThiSe, S~ o STRISe,
T eiferd geet i HEd S 2
2. @4 2016 & fisd S 7 RIS WX 1
A SR wIgATEEA HUA AT SOl BT <l
e e
IwE FUA W 9 SE-FUA w1 282
(a) ®ad 1 (b) Faad 2
(c) 1 3R 2 <+ (@ Fd@1, T2
9. ‘dfyash AR guHTH-2019' & HH o
frfafaa wot w® foar wifs:
1. & ool § 9 dfYges To=R gEdiea,
2019 ® WRA i 524 TH 9 €37 B
2. dfyash JFaMER geehi® 2019 ®1 | 2-
‘forafen 3ot ameEed- € TR 3% Afewd
Bl
3. dfYas FaER FaHlh b TH 129 FEhI
o wied ol ugdl TH s g3l

ST oAl ¥ 9 HA-A/A T 22
(a) Facd 1 32 (b) Hod 3
(c) Faer 2 3R 3 (d) 1,2 3R 3
10. ‘favd gan v fa@’ =@ S 2 -
(a) 15 S[E (b) 15 TRA
(c) 15 fads (d) 15 TRR

11. 668 T fhew AR, 2018 & q&d =ifud
TE TS W= fhed 8-
(a) SPEMe[ (b) TR
(c) 3 (d) et
12. ‘W T erErE- 2019' & wed # fefefea
FAl W fo=m Fifee:
1. ¥R 99RR G AR & a6 2019 &
T Y sErE ¥ gEta fme e 2
2. I8 RN 1 Heited T €, Eent ywer
ad 1957 ® &I TE off|
3. 391 9M fhefdia Tore & R aegafa
T T % AW W @ T R
ST wedl § 9 wA-E/A TE 2R
(a) Faa | (b) et 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3
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8. Consider the following statements in the context
of ‘Account Aggregator’:

1. Account Aggregator is a web-based
method that compiles information from
different accounts, which may include
bank accounts, investment account, credit
card accounts, etc.

2. In year 2016, the Reserve Bank of India
gave the status of Non-banking Financial
Company category to Account Aggregator.

Which of the statement(s) given above is/are correct?
(b) 2 only
(d) Neither 1, nor 2

(a) 1 only
(c) Both 1 and 2

9. Consider the following statements in the context
of ‘Global Innovation Index—2019’:

1. India has been ranked 52nd in the Global
Innovation Index, 2019 released in New
Delhi.

2. The theme of the Global Innovation Index
2019 is 'Creating Healthy Lives- The Future
of Medical Innovation'.

3. Sweden ranked first in this 12th edition of
the Global Innovation Index.

Which of the statement(s) given above is/are
correct?

(a) 1and 2 only (b) 3only

(c) 2 and 3 only (d) 1,2and3

10. “World Youth Skills Day’ is celebrated on —
(a) 15th July (b) 15th August
(c) 15th September  (d) 15th October
11. The best feature film announced in 66th National
Film Awards, 2018—
(a) Andhadhun
(¢) Uri

(b) Hellaro
(d) Padman

12. Consider the following statements in the context
of ‘Ramon Magasaysay Award— 2019’:
1. Indian journalist Ravish Kumar has been
awarded the Ramon Magsaysay Award for
the year 2019.
2. It is the biggest honor of Asia which was
inaugurated in the year 1957.
3. It is named after Ramon Magsaysay, the
third President of the Republic of the

Philippines.
Which of the statement(s) given above is/are
correct?
(a) 1only (b) 1and 2 only

(c) 2 and 3 only (d) 1,2and3
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13. ‘Setie T’ & wed o frAfafed wu w foem
EAISRR

1. e fean $iR 2 TR 3 U e sffesn
% Tial o g Al Tew 1 famr faen
2

2. FeTie Wt wEwA a9 2015 ¥ YE fowa
T

3. T SE8Yd UMYl WRa | Hieene & o
fefsteat werar &1 gfaen gam w¢7 21

ST el § 9 wA-E/A TE 2R
(a) Faa | (b) aet 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3
14. ‘Ee-3-E3 T’ & e o FreAfataa we
R foEr Sifsa:

|. & WA 3R ®F & = ofte w9 9
AT BH el S )

2. 39 U= 1 S HERl feEeR o Hemer
% fore=1 & fiehe SmE o smefsa fman
ST

3. 39 AW & <A I T ARA &
Ted fedt 391 A faeeasrl/smasars
Tfafafeel & gwee & fod wiaE g
wfeteror & o wnfee 2

ST el ¥ W wiA-E/A " T 287
(a) 9 1 (b) Haa 18k 2
(c) ot 2 @R 3  (d) 1,2 3R 3

15. ‘wiEt-w=t foifen ufesm’ & ded o feafafea
FeAl W fo=m Fifee:

1. =9 9 & ' 72 TRl et & "rem
¥ SE # fHyTs ¥ Bt afgq &« @
Sirg1 S|

2. T YT HI Ao Rex fess afsm
% 9] HE-Te fafwT ufiEs <o w6t
TEdl R fefeer wfEse 2

3. 9fg @€ g uREsH wif| g © ol
T T 90% 9T H5 3 10% 9N T4
ErRsful

STgF weAl ¥ W wH-G/A w22

(a) ®aad 1

(b) hee 1 3R 2

(c) @aet 2 3R 3

(d) 1,2 3R 3
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13. Consider the following statements in the context
of ‘Internet Saathi’:

1. Google India and Tata Trust have expanded
Internet Saathi initiative in the villages of
Punjab and Odisha.

2. Internet Saathi Program was started in the
year 2015.

3. It aims to facilitate digital literacy among
women in rural India.

Which of the statement(s) given above is/are
correct?

(b) 1and2 only

(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

14. Consider the following statements in the context
of ‘Hand-in-Hand Military Exercise’:

1. It is a military exercise held between India
and Russia annually.

2. The 8th edition of this exercise will be
held in December at Umroi near Shillong,
Meghalaya.

3. During this exercise, providing training
for combating action against disruptive
/ terrorist activities in a country as per
the orders of the United Nations is also
included.

Which of the statement(s) given above is/are not
correct?

(b) 1and2 only

(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

15. Consider the following statements in the context
of ‘Kosi-Mechi Linking Project’:

1. Under this project, Kosi will be connected
with Mechi Basin at Kishanganj via a 72
Km Canal.

2. The Kosi-Mechi linking project is the
second river linkage project in the country
after the Ken-Betwa River Linkage Project
in Madhya Pradesh.

3. If'this national project is declared, then 90%
of the cost will be borne by the Centre and
10% will be borne by the states.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1,2and 3
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16. ‘wiem’ & "o § ffafad sweml o 9 siE-|1
T Tt 222
1. I8 U A @ ®, S gAeER 3 9
T Bl ® qen eied & fire Ued & wwi
AR S St 2
2. 30 ARG & I qAN qverg A H
Tlieft =l e HEd Bl
3. i ¥ URa TN 3 319 9 aHerg, %
BT faa 9 5,000 & st Afgenet =t
TRt 3T BT FIA Y H A T 2

hd:
(a) Hae 1 (b) Hae 1 3R 2
(c) ®ad 2 3R 3 (d 1,2 3R 3

17. ‘A s=sia e’ & wed H fefafea
HY W fa=r Hifsa:

1. TERTSE TR A 39 AYIRUA hl & &

o smfara siftq s =1 fofa fomn 21

2. % AWIRVT HEH Y & AUG-TFEH I

A H 890 o feRHl. & et § then €

3. T AYIRUY H 9T 1 G&AT AET 40 2

SUge el § W wiA-a/d Wl T 287
(a) ®ad 1 (b) wae 1 3R 2
(c) ®aad 2 3R 3 (d 1,2 3R 3

18. ‘ad= dfgar fag=e, 2019’ & wed ¥ f=fataa
HoAl R fo=m wifsE:
1. 9N oM Hfegaed § 7€ Yo dfear g, S
sifufag o9 1 @ R
2. 39 fag=s o T g R i Sd
T fefSea Tl ¥ w3 &1 giehed
H1 TE 2
3. =JAq9 9 1 FuRe ge w9 9 T 3R
T W IRG B
STE oAl § 9 HA-T/A T 2/e?
(a) Faa | (b) 1,23 3
(c) ®act 2 X3  (d) o 3
19. SFIT 3 Th T TR ATAMHIO & TS &
w&d i H % ], S Sl & dear | e
gt Sfaiseia foamsi 1 gaamg waml 39 Hed o
frafafed wel W foem #ifsa:
1. 39 Y@ & ded ARG T S faarg
arfufrm, 1956 o Tenem fean smom
2. =Nt grI T e fAvf Hetew =
% ol & TaE B SR SEe faeg e
T H1 W BE TEEH T B

16. Which of the following statement(s) is/are correct
in the context of ‘Kolam’:

1. Itis a geometrical line, composed of curved
loops, drawn around a grid pattern of dots.

2. Rangoli is called Kolam in the states of
Kerala and Tamil Nadu of South India.

3. Kolam-inspired maps have so far benefitted
more than 5000 women in six districts of
Tamil Nadu by providing them a source of
permanent income.

Code:
(a) 1 only
(c) 2 and 3 only

(b) 1and2 only

(d) 1,2and3

17. Consider the following statements in the context
of ‘Ratapani Wildlife Sanctuary’:

1. Maharashtra government has decided to
declare this sanctuary reserved for tigers.

2. This sanctuary is spreaded over an area
of 890 sq. Km in Bhopal-Raisen Forest
Division of Madhya Pradesh.

3. There are about 40 tigers in this sanctuary.
Which of the statement(s) given above is/are not
correct?

(b) 1and2 only
(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

18. Consider the following statements in the context
of ‘Code on Wages Bill, 2019’:

1. This is the first of the four Labor Codes,
which is going to become an Act.

2. The Bill envisages the payment of wages to
workers by states digitally.

3. The determination of minimum wage will
be mainly based on location and skills.

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 1,2and 3
(c) 2 and 3 only (d) 3only

19. The Lok Sabha has approved the proposal to set
up a permanent tribunal that will hear all inter-state
disputes related to the sharing of water. In this
context, consider the following statements:

1. Under this proposal, the Inter-State River
Water Disputes Act, 1956 will be amended.

2. The decision given by the Tribunal will be
equivalent to the decision of the Supreme
Court and there will be no provision to
appeal against it.
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U el W W wA-A/H T 22
(a) ®a 1 (b) ®aa 2
(c) 1 3R 2 <+ (d Fd 1,782

20. ‘TrTete ArgRTes fisrd’ @ Hed o f=fafea
ol W =R Fifs:
1. TITEE okt faeR @1 Jeen AR e
i feran o @ St faer =1 1597 GRfer
&= ot B
2. e faeR # HiER foe W feom ¥, s
I § TEES SN HAER qen Ifa ud

o i A 2l
ST Fod 9 HHA-TUA TE B2
(a) ®ad 1 (b) Had 2
() 1 3R 2 gt (d Fd1,7€2

21. ‘Jeaur et i g SR wew % fod A
(Tmdidiiua)’ & wed o frafafaa wo =
faar wifs:

1. ST A9 99 2017 H AME GO fae
A, 9Rd AR 5 &1 T off

2. G ASHl h1 THAS SS_F 29 HI TEH
IS T TEAAAHIT HEAT I I HEH
T €, fSet frepe wfgs § qwaua =0
GeheU& B ! e 2

3. 79 Ao &1 fRE Fefes & TR o feom
HET AT A LI G HT S B

ST Ferl H 4 HHA-TUA TE T 222
(a) e | (b) Fee 1317 2
(c) ee 2 3R 3 (d 1,2 33

22, ‘FN gSid AR’ & Ged H frefafea
Fel W foEm Fifee:
1. o€ oSiel AWARTY Hetesh § fed 2
2. T H o faum 3 FO g SR
H wfied & & fod o 300 T
gf &1 T F R
3. OO A& T HEMET HON F=As(a STHIRT
Y BT e B
ST woAl § 9 wA-A/A T 2R
(a) ®ad 1
(b) et 1 3R 2
(c) ®ad 2 3R 3
(d) 1,2 3R 3

Which of the statement(s) given above is/are
correct?

(b) 2only
(d) Neither 1, nor 2

(a) 1 only
(c) Both 1 and 2
20. Consider the following statements in the context
of ‘Gogabil Community Reserve’:

1. Gogabil has been declared the first
community reserve of Bihar, which is also
the 15th protected area of Bihar.

2. It is situated in the Katihar district of Bihar
with Mahananda and Kankhar in the north
and the Ganges River in the south and east.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1, nor 2

(a) 1 only
(c) Both 1 and 2

21. Consider the following statements in the context
of ‘Scheme for Protection and Preservation of
Endangered Languages (SPPEL)’:

1. It was established in the year 2017 by the
Ministry of Human Resource Development,
Government of India.

2. The sole purpose of this scheme is to
document and store the languages of the
country which are likely to be endangered
or threatened in the near future.

3. The scheme is monitored by the Central
Institute of Indian Languages in Mysore,
Karnataka.

Which of the statement(s) given above is/are not
correct?

(b) 1and2 only

(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

22. Consider the following statements in the context
of ‘Krishna Wildlife Sanctuary’:
1. This wildlife sanctuary is
Karnataka.
2. Recently the Forest Department has
identified about 300 hectares of land for
inclusion in the Krishna Wildlife Sanctuary.

located in

3. The Krishna River estuary passes through
the Krishna Wildlife Sanctuary.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 1and 2 only

(c) 2 and 3 only

(d) 1,2 and 3
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23. 'veeMRE WiHt Wer’ & §ey d frefated sl

R fo=m wifsd:

I, TeerRE W e g # R wen

dferrg & foedeme foa 9 Hefud 2|
2. I8 W IS H 9 g Sl 2

3. UIIMIEE W i Aot Hehdeh ol Sl

23.

Consider the following statements in the context
of ‘Pattamadai Silk Mat’:

1. The traditional art of weaving Pattamadai
silk mat belongs to Tirunelveli district of
Tamil Nadu.

2. This mat is made from Korai grass.

3. Pattamadai

mat has been given the

o 2 Geographical Indicator tag.
3“1'{3[31?[ Foel § 9 wE-w/A wE e Which of the statement(s) given above is/are
(a) B 1 (b) Hae 1 3R 2 correct?
(c) Fered 2 @R 3 @ 1,2 iR 3 (a) 1 only (b) 1and 2 only
24, Byt T R ERE (c) 2and 3 only (d) 1,2and3
1. ‘=ef gee 24. Consider the following statements:
5 5 1. SAATHI initiative

X .. 2. PowerTex India
3. HEeRS THHUH WA sfea whiH
4. THIhHd v farm ISl

IudH TEe/TEel § § hHH-G/E oI5 IR i

3. Merchandise Exports from India Scheme

4. Integrated Skill Development Scheme

Which of the above initiative(s) is/are related to

FEE 3 | Hafia 282 promoting the production of textiles?
(a) ®ad 1 (b) wae 1 3R 2 (a) 1only (b) 1and 2 only
(c) ®ad 2 3R 3 d 1,2,3 3R 4 (c) 2 and 3 only (d) 1,2,3and4

25. IR TR A <@ H 17 ‘Ufdftsd ek e’ fawfaa | 25.
FE 1 hEe T ®, S fave T % v T
% ®9 4 fowfaa g @R g0 fafgq 17 e
¥ frafafad § wR-9 wfhe =@t 82

The Government of India has decided to develop
17 'Iconic Tourism Sites’ in the country which will
be developed into world class tourist destinations.
Which of the followings are not included in the
17 sites identified by the government?

I 7 wed (3 ) 1. Hawa Mahal (Rajasthan)

2. TR (fam) 2. Golghar (Bihar)

3. AR (I TR) 3. Taj Mahal (Uttar Pradesh)

4. @R (A F) 4. Khajuraho (Madhya Pradesh)

5. e () 5. Colva (Goa)

e Code:

(a) Faet 1 32 (b) Haet 231K 5 (a) 1and 2 only (b) 2 and 5 only
(c) ®add 2,4 SR 5 (d) Haw 1,3 3R 4 (c) 2,4and5only  (d) 1,3and4 only

26. ‘wiee WE eifaed’ & wed d fAfafed weml | o6
o 9 H-"/d wEl 2R?

1. 9% effded 9RdT o1 &l g9 & &9 |

Y H ol W HREED FH R A

. Which of the following statement(s) is/are correct

in the context of ‘Cold Start Doctrine’?:
1. This doctrine provides the Indian Army the
goal of entering into enemy territory and

T w7 B acting swiftly.

2. =9 i %1 foeR gduem 2001 ° 2. ‘The idc?a of this dOf:trine first came frqm
HAT W N AT T AR e Operation Par'akram after the 2001 terrorist

= attack on. Parliament. . .

R ml 3. The existence of this doctrine was

3. @t 2017 H ORI U@ WA AR G acknowledged by the then Chief of Army
39 iRz o e i TR feran T Staff in the year 2017.

e Code:
(a) Forc 1 (b) e 1 3R 2 (a) 1only (b) 1and?2 only
(c) ®aet 2 @R 3  (d) 1,2 3R 3 (c) 2 and 3 only (d) 1,2and3
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‘THIFd 95 g (SMEASH)’ & wed o
frafafes wel W foem #ifsa:
| e A g A e e s ge
T ARG THHU HH HI YA &Har o
gfg w6 & o wgen ‘oA & TeA
T G fora B
2. IEELSH. fofle & SR #1 TH <8 3R
AR g oFaeen § 91 I@ oM &%
‘shies W S’ &1 Th 9N 2l

SUg sl § W wA-G/d e 22
(a) o 1 (b) Het 2
() 1 3R 2 gt (d Fd1,7€2

R wfafafeel (Jsmem) HeneR fadee,

2019 & Hed ¥ fr=fafeaad wemi W faanr #ifse:

1. 7% faems R-sr nfafafmt (Jskem)
sifufEd, 1967 § Helem w4 B

2. e fariae wafud T9 SR &1 e STTATT
% for el ot SUEd w6 & a3 ey
1 YR HT BT YIH HT 2

3. 39 HMI & d8d ARl % ®9 H ATHA
fordt =afoa =t SAfgama =1 foxia et
faftr= wifeai = g aren fewan s g

STE Fwodl ¥ 9 HA-T/A T 22
(a) Haa 1 (b) e 1 3R 2
(c) Faer 2 3R 3 (d) 1,2 3R 3
g | =fdd 'Spektr-RG' 2

(a) S TN &% ford faepfaa =€ <an
(b) T Hfer A
(c) TH hHI o™
(d) geat |gW @S T T T4 TR
R A S A TOHAT SRS BT S FHfora
FH F IRV U SURI TgEH IR AsferT w1
Gl ! WRATE A % <R H W@ e 21 3w
Hed o frAfafed wul w faemr #ifsa:

1. 39 WHIOMRIOT ¥ G9HAT Scasi § g et
firetrere W ek ol 3R Sy & ford
YT T gar off gHfeea enm

2. 3EY Fedl Uil AR T Gl JHG HRRI
o T Rl & fEal w1 ten el

3. o fava o weifues IR ged 3= fre
o TYHAT T IARA Hl B

Iwfe wUAl W 9 SE-FUA TE 287
(a) et | (b) Faa 1 ik 2
(c) ®a@ 2 X3 (d) 1,2 3R 3

27.

28.

29.

30.

Consider the following statements in the context
of ‘Integrated Battle Group (IBG)’:

1. The Indian Army has decided to form the
first 'IBG' to increase its ability to perform
well in battle and to quickly attack the
enemy.

2. The IBG has an efficient and self-sufficient
combat system of a brigade size and is a part
of the 'Cold Start Doctrine' of the Army.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1, nor 2

Consider the following statements in the context
of ‘Unlawful Activities (Prevention) Amendment
Bill, 2019’:
1. This bill amends the Unlawful Activities
(Prevention) Act, 1967.
2. This bill seeks to empower the NIA to

conduct raids anywhere without the
prior permission of the concerned state
government.

3. The personal or financial information of a
person designated as a terrorist under this
law can be shared with various agencies.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

Spektr-RG, recently seen in news, is:
(a) A drug developed for the treatment for
Cancer
(b) A space telescope
(c) A computer virus
(d) A newly discovered earth-like planet

The Bureau of Indian Standards has put the process
of identification and labeling of Pashmina products
under the purview of the Indian standard for the
purpose of certifying its purity. In this context,
consider the following statements:

1. This certification will prevent adulteration
of Pashmina products and will also ensure
the purity of Pashmina for consumers.

2. This will protect the interests of nomadic
artisans and local craftsmen who produce
raw materials.

3. Ladakh produces the highest amount and
most advanced variety of Pashmina in the
world.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3
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31. ‘ifee RdE e oTHM’ & Hed # frAfafea
FeAl W =R Fifee:

1. 29 SaE, 2019 1 a9 2018 H g& Tl i
MO WY Wk % 3fishe S feRd T

2. gfn W) H 29 e i STa A fgem
% ®9 H TEE S 2

3. 39 % RO § 9 e SIEmRedi- ae
(u. smer), s (fosiwm) @it Tem
(s@e) | ol w1 erufeef <si ®i T B

IwE FUA W 9 SE-FUA w1 282
(a) a1 OEESRE )
(c) Faal 2 33 (d) 1,2 3R 3
32. ‘HiR VWY e’ & Ud H fAfafad sl w
foaR ifem:

1. 9% ga&i% ARG & S Fhe & HH H
fava o 469 Ted S=u Wif@m ot W &
w9 H gfag w2

2. gahih H 9RA & 20 a9 9 IEU H °
11 H S 9916 &1 W1 * eTcfeen sifaHqot’
? qen 7 el 3=4 Sifew # goft § ¥

U el W W wA-G/H T 22
(a) ®ad 1 (b) HaA 2
(c) 1 3R 2 <+t (d Jd@ 1,92

33, ‘diceie’ & gedd | fefafad sl § 9 we-av
T T 2R?

1. 98 TH UHR &1 Agafm 2

2. UM H f-Wag # dkded 3% fewm
Hecled gr1 Tr=sifed 2|

3. % Al w8 w1 w1 qSuE e o
G T GARY HEHA G fedE |
SO Ugel JEdd TR TR T

h:
DEESE! (b) wae 1 3R 2
(c) ®ael 2 3R 3 (d) 1,2 3R 3
34, 'S SR wYER gAieA sifuftem, 2019 & e
¥ frefafed weml w foem Fifsm:

1. 39 Afufm & TER, S 3R FyUR T
T W 3R HYIR T T & TS A5
T T & o gifed fRan e )

2. T W T &S 1 ueeufd g fged
YIS ‘SIS & HISAH | qeUfd g
genfaa feean smam)

3. A Y T & & T etem-eter 3=
IRl

31. Consider the following statements in the context
of ‘All India Tiger Estimation’:
1. On 29 July, 2019, the data for the fourth
round of tiger counts in 2018 was released.
2. July 29 is celebrated worldwide as
International Tiger Day.
3. This new report records the absence of
tigers in three tiger reserves - Baksa (West
Bengal), Dampa (Mizoram) and Palamu

(Jharkhand).
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

32. Consider the following statements in the context
of “Water Stress Index’:

1. This index lists India as the 46th highest
risk country in the world in terms of water
crisis.

2. Out of the 20 largest cities in India, 11 have
levels of water stress in 'extremely high risk'
and 7 cities are in the ‘high risk’ category in
the index.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1, nor 2

33. Which of the following statement(s) is/are correct
in the context of ‘Peatland’?

1. Itis a type of wetland

2. Presently, 3% of earth’s surface is covered
by peatlands.

3. Few days ago, United National Environment
Programme accepted its first proposal on
Peatland in Nairobi, the capital of Kenya.

Code:
(a) 1 only (b) 1and2 only
(c) 2 and 3 only (d) 1,2and3

34. Consider the following statements in the context
of ‘Jammu and Kashmir Reorganisation Act,
2019’:

1. According to this Act, the State of Jammu
and Kashmir has been reorganized into the
Union Territory of Jammu and Kashmir and
the Union Territory of Ladakh.

2. Both Union Territories shall be administered
by the President through the Administrator
'Lieutenant Governor' appointed by the
President.

3. There will be separate High Courts for both
the Union Territories.
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IwfE w9 9 SE-FUA TE 282
(a) T | (b) et 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3

35, freafafaa womi ) faar wifs:

1. 9Ra &t foq ad 2024-25 T 5 @A SleR
I SredTeEl I T oed qF fRar T
g, afh @@ g ol dEd wew w@e
AfeTEE 9 9|

2. R SN (2019-20) H TSRS S
A& St w1 3.3 wfaerd 99 fean e )

3. $% WHR H TSN =&l 2017-18 H
e &1 3.5 gfawd en, S 2018-19 |
TEHR 3.4 Gfawmd & T

ST He W W HHA-FA TE B2
(a) e 1 (b) e 1 3R 2
(c) Hee 2 3R 3 (d 1,2 33

36. ‘mifaferdt o’ & ged A frfafad werl w
foar =wifse:
1. 9Rd &1 98l PAH @ehH IResd &
o Uig et Hifafadt &1 (TAeuasE)
29 H Tl wry i e yored 2,
S9! e A= 2019 § &1 TR
2. TTHUHE HHhl & YR W TAETHE
T, ‘TR (T ohE) SR @
(Tt Te) ' w1 S fewa S 2l
3. Ul U2, 99, SUTRE e, 2, i,
i fgdt ik fed ufeed 9@ 92 @t
el § 39 H1E 1 TEHA H HHD B
ITe woAl § 9 HA-T/A T 22
(a) Had 1 (b) Weel 1 3R 2
(c) Fael 2 3R 3 (d) 1,2 3R 3
37. frafafad womi W faar wifs3:
1. fava S & a9 2018 & siihel & FER,
aRA 1 ALeFaEen 2.73 fefemm efer =
iy fova 1 ol Gag <t referee 2
2. 99 2017 & 3Aihsl H 9RA & IS HaQ
LT AefHETN FART TAT o, Sfh e
Alhgl & HER, ST 98 WRd a&dd |
Yreel Tad o€t steferewen §° A el
IfE FUA W 9S-I/ T @ 22
(a) Ha 1
(b) Had 2
(c) 1 3R 2 <
(A1, 2

T remEn | e 2
The Vision (General Studies) (Magazine Test)

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 1and2 only
(c) 2 and 3 only (d 1,2and3

35. Consider the following statements:

1. India has set the goal of creating a $ 5 trillion
economy by FY 2024-25, so that it can
become the world's third largest economy.

2. In the current budget (2019-20), the fiscal
deficit target has been set at 3.3 percent of
GDP.

3. The central government's fiscal deficit was
3.5 percent of GDP in 2017-18, which came
down to 3.4 percent in 2018-19.

Which of the statement(s) given above is/are
correct?

(b) 1and2 only

(d) 1,2and3

36. Consider the following statements in the context
of “Mobility Card’:

1. India's first payment platform, National
Common Mobility Card for Transport
(NCMC) is the country's first indigenously
manufactured payment system, which was
launched in March 2019.

2. Based on the NCMC standards, NCMC
cards ‘SWEEKAR (Swachait Kiraya or
automatic fare) and SWAGAT (Swachalit
Gate or automatic gate)’ are used.

(a) 1 only
(c) 2 and 3 only

3. Consumers can use this card in all modes
related to metro, bus, suburban railway, toll,
parking, smart city and retail transport.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1and 2 only
(d) 1,2and3

37. Consider the following statements:

1. According to the World Bank of 2018
figures, Indian economy with $ 2.73 trillion
is the sixth largest economy in the world.

2. In the 2017 statistics, India was declared as
the sixth largest economy, but according to
the latest statistics, that year India actually
became the fifth largest economy.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1, nor 2
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38. ‘frereddt’ & el o fr=fafea wui o @
HA-F/A FE 2?2
(a) fFeRidl IR & SAR-9g@l & 1A
Bt 2
(b) Tr<iendt faemsiepa eidl €, fraes sror s
fafafia we g g 2l
(c) Treientet =1 o€ w4 & Heia I wEeha
T T AR Bt 7, FTEd 3w % S
T R YR JHE g Gehdl B
(d) 37wl
39. 'S aele A9Re wIHT’ & wed # frAfafea
H R fa=r Hifsa:
1. 39 3Ty WY WHR A a9 2015 § 39w
2. 8 B gt A AR & de e
T 1 B T TR SE o
ifereRT e’ T Tl @

U el W W wA-G/H T 22
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <+t (d Jd@1, T2

40. Ia TR Heaor (HeleA) fagaes, 2019 &
Ted ° fr=afafea swua w fommr sifs:

1. fodge § o' waue € fo @i st S

IS <R 1 Y& =R A1 I=dad

ST T AT W 8, TSI 1
el B Wehdl Bl

2. fodms # 3 W= &t Fgfm @1 waEm

o e 2, fS9 9 HH-9-%1 T dfeen

Rl
U el § W wA-G/H T 22
(a) Foa 1 (b) wae 2
(c) 1 3R 2 <+ (d T, T2

41, ‘ot siifrarg afafa’ & d<d § f=fafed s
T foar Sifsa:
1. =8 qfufa &1 737 Hruke e e
(Fwgem.) & fed foan mm
2. 39 A0 g7 WTEAR & U &
IeoteH i fafae ooy #1 9ot § W
S T T e @ T R
3. wfafa 3 o sifufem « @e-7 # 93
T & Haq g™ asal & STI®Y o
1 fawie =1 2|
ITE oAl § 9 HA-E/A " 2R
(a) T | (b) et 1 3R 2
(c) ®a@ 2 X3 (d) 1,2 3R 3

38. Which of the following statement(s) is/are correct
in the context of ‘Cryptocurrency’?

(a) Cryptocurrency is subject to fluctuations in
the market.

(b) Cryptocurrency is decentralized, due to
which it is difficult to regulate.

(c) Cryptocurrencies need to be stored and
processed in large quantities, which can
adversely affect the country's energy
resources.

(d) All of the above.

39. Consider the following statements in the context
of ‘Zero Budget Natural Farming’:

1. The Government of Andhra Pradesh
adopted it in 2015.

2. A non-profit organization called ‘Raytu
Sadhikara Sanstha’ is working to make this
agricultural practice popular among the
farmers.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1, nor 2

40. Consider the following statements in the context
of Human Rights Protection (Amendment) Bill,
2019:

1. The Bill has a provision that a person, who
has been the Chief Justice of the Supreme
Court or a Judge of the Supreme Court, can
be the President of the NHRC.

2. The Bill provides for the appointment of 3
members, out of which at least one shall be
a woman.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1, nor 2

41. Consider the following statements in the context
of ‘Injeti Srinivas Committee’:
1. This committee was constituted for
Corporate Social Responsibility (C.S.R).
2. This committee has recommended imposing
a penalty for violating the compliance
of C.S.R putting it under civil offense
category.
3. The committee has recommended aligning
clause-7 of the Companies Act with the
Sustainable Development Goals of the

United Nations.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3
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42, ‘HE gg' & g3 o Frafafed womi | fo=w
HifST:

1. oTfe! & faam =7 <9 & q51 & @y
BEBIE HH Al 9 A el Ao
=it =Y fean 2

2. B % WY dgwre o7 fefd ed €, v
TWHR AUR | 3faq a9 e & &
o fafma R #t 3w w1 9 ufefia
H HT BT HE B

IwE FUA W 9 SE-FUA w1 87

(a) ®ad 1 (b) Faad 2

(c) 1 3R 2 < i (@ Fd@1, T2
43, ‘gz fafma U & ded ¥ Fafaftad wud |

foram wifsmar:

1. fakelt g1 7 ufd s e g1 § v,
w1 1 fafa R weard 2

2. Ugifaew R W fardt g &1 fafma
39 g1 T A SR g T R R W

e et 2
ST oAl § 9 HA-T/A T 22
(a) ®ad 1 (b) Haa 2
(c) 1 3R 2 <+t (d Jd@ 1,92

44, ‘Hyy drve’ & Hey H Ffafad o ® fa=ur
Hifer:

1. Ty sve WHR gR WK HagfeEr g6 €
e gRT TR TSR =1 & fadta den
IR TR STHGE 1 YeE il 2

2. Yy dfve Tuq steen fadelt g § of S
e T @bl 21

3. 9Rd H A d% WEHR 7 W INR H
Fad TR G (T o) § € w9y
atvg s R 2

STE oAl § 9 HA-T/A T 22
(a) ®ad 1 (b) wae 1 3R 2
(c) ®ael 2 3R 3 (d) 1,2 3R 3

45, ‘wfte fagw sfean fafies’ (KABIL) &1 T&mmr
frafafea & 4 fo gdsf= &9 & S5
Yiqse i AFIERE o 1 STCH?

I, T et w e fafee

2. fegwm & fafes

3. o Tegwem wu fafics

4. fegem tdifaaw wiaiem fafite

h:
(a) o 1,2 34 (b) ®ad 1,2 3R 3
(c) %l 3 34  (d) 1,2,3 3R 4

T remEn | e 2
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42. Consider the following statements in the context
of ‘Currency War’:

1. The US Treasury Department has declared
China as a currency tampering country or
‘currency manipulator'.

2. Currency Tampering is a situation, when
governments try to artificially change the
exchange rate to gain an unfair advantage in
trade.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1, nor 2

43. Consider the following statements in the context
of ‘Currency Exchange Rate’:
1. Price foreign currency in per unit domestic
currency is called currency exchange rate.
2. On a theoretical basis, the exchange rate
of a currency depends on the interplay of
demand and supply of that currency.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2
44. Consider the following statements in the context
of ‘Sovereign Bonds’:
1. Sovereign bonds are securities issued by the
government through which the government

finances fiscal deficit and manages
temporary cash imbalances.

2. Sovereign bonds can also be issued in
rupees or foreign currency.

3. Until now in India, the government has
issued sovereign bonds only in the local
currency (rupee based) in the domestic
market.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and2 only
(c) 2 and 3 only (d) 1,2and3
45. Khanij Bidesh India Ltd. (KABIL) will be set up
with the participation of which of the following
public sector central enterprises?
1. National Aluminum Company Limited
2. Hindustan Copper Limited
3. Mineral Exploration Company Limited
4. Hindustan Petroleum Corporation Limited

Code:
(a) 1,2 and 4 only (b) 1,2 and 3 only
(c) 3 and 4 only (d) 1,2,3and 4
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46. 'iSPIRT' & d3d o fr=fafed womi | fa=ar
HIfer:
. 98 UF N-9hd ©ewE 8, S 29§
IR IR AT ! agel 3 & AT
T N FAifq o wedm qen drveaer |
a9l 1 SieaTied w2l
2. @d 2016 § TN 30 IR HICE SR
=fe@l = iSPIRT i T3 i

IwfE FUA ¥ 9 S/ e @ 22
(a) HaA | (b) HadA 2
(c) 1 3R 2 < i (d Fd@1, T2

47. ‘g AR grgiar’ & s # frefafea wemt
T foar Fifsa:

1. 39% Al Q1 | B = TEE-FEd ®
T&d SR} R H Yok, frames e, fene
3R i A T W T S e

2. T # e SR e W @
el SATIR HHEdl R IR fohar )

3. 399U % 9% 9RG §R UdE G
fata ferdl < ol Tt @ gered e
w9 9 gofed =i

ST FoA H 9 HHA-UA TE B2
(a) ®ad 1 (b) wae 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3
48. Zeuiifere-{S =R wEg (R, frara
dfy & Gl § ffafad woml W fo=r Fif:

1. GgF T ST 3 enfyeiies &9 § v
g & INH K T W WY W T H
BT H B

2. € Y Wi 3R w9 % o o 1987
¥ viags & SRE Hem g0 arefl gRuRe
s WA fresel w wfeE w5 i
& & foad g ol

SudE el W W wE-"/A HE 2?2

(a) T 1 (b) e 2

(c) 1 3R 2 gt (d Fd 1,782
49. ‘afen eifae "y’ den FEET & Hed o

frAfafea wol | faar wifa:

1. 39 FEHA H 3T I AGA A 3T
TR T SN SACThITereh USHTR & HEAH
Y U HHM 1 SFTH GEH HE 2

2. (o &R §N ¥Rd 9fed T <o
T arfues 33 § 39 SN wEwH 1 fowR
& 1 foig fern

46. Consider the following statements in the context
of “iSPIRIT":

1. It is a non-profit platform that promotes
software products companies in the
country as well as promotes cooperation
in government policies and investment in
software.

2. In the year 2016, about 30 product
companies and individuals started iSPIRIT.

Which of the statement(s) given above is/are not
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1, nor 2

47. Consider the following statements in the context
of ‘Free Trade Agreement’:

1. Under this, customs duties, regulatory laws,
subsidies and quotas etc. on products under
import-export between two countries are
eased.

2. Recently agreement on free trade agreement
between Vietnam and EU was signed upon.

3. After this agreement, sea foods exported
by India to the European Union will be
adversely affected.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

48. Consider the following statements in the context
of Intermediate-Range Nuclear Forces (INF)
Missile Treaty’:

1. The United States has officially announced
its withdrawal from this Treaty made during
the Cold War.

2. This treaty was signed between the US and
Russia in the year 1987 during the Cold
War to limit the powers of medium-range
conventional and nuclear missiles.

Which of the statement(s) given above is/are
correct?

(a) 1only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2

49. Consider the following statements in the context
of “Working Holiday Maker’ Visa Programme :
1. The purpose of this program is to provide
young travelers with an opportunity to earn
money through short-term employment
during their vacation.
2. Itwasdecided by the Australian Government
to extend this visa program to more than a
dozen countries including India.
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3. 39 9T 1 3Ee¥T 9RA & RS &, JE:
FT & § Akl F1 G@n agER Ah!
FHH H QL FHET 2

IwfE FUAl 9 9 SE-FUA T 22

(a) Hae 1 (b) eet 1 3R 2

(c) a1 3R 3 (d) Heet 2 3R 3
50. ‘TEedd 2 el & §]d H frAfafed wemi

T foar Fifsa:

1. affed R & SR &1 Tgedd 2 geat
% GH HT wa H A fRmAT T gl
wEeed (U o) €, fo waelt wer
il @ S T e

2. AEEd 2 USR THh IR-ERN e,
Rl HERE ® derEaE § g
S T Y O geAt i uRehH waml

Swde wUAl W 9 SE-FUA TE 27

(a) ®ad 1 (b) HaA 2

(c) 1 3R 2 <+t (d Fd@1, T2
51, ‘3T SRS TIEIE W HAM & Hed H

freafafaa ol ) faar s

. T8 Hgw A SWfeh IR = 1 T
G Ee B

2. THHT T 12 TE, 1958 i & T8 off|

3. TH® JEAEE diare! fom (emit) o

feera B
ST el ¥ 9 HA-T/A T T 28
(a) ®a 1 (b) o 1 3R 2
(c) Fael 2 3R 3 (d) 1,2 3R 3

52. anfoifsrek Tehe, BewEren-1 fefafaa o @ frg
W & gR @i-a oA T ©?
(a) WA (b) =
(c) ST Hifn (d) &4
53. HEHIEeARe & el o ffafed wud 4 @
HHE-E/H e 2R?
(a) ATEHIEIAEE AHR T G S & fesd
S g 2l
(b) 3 HrEH wonterEl, el SR I T
arfe =t fmret o forelt et a1 Wi &t
TEE HW B
(c) TR ST STHYM I3 1 Ufd & for
ff fepan <1 gevar 21
(d) ST weft

3. The purpose of this visa is to address the
shortage in India's domestic sector, mainly
in the agricultural sector by increasing the
number of workers.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and2 only

(c) 1and 3 only (d) 2and 3 only

50. Consider the following statements in the context
of ‘LightSail 2 Project’:

1. Boxing Ring-shaped LightSail 2 is the first
LightSail (solar sail) made from thin mylar
material launched in orbit near the Earth,.

2. The LightSail 2 project is run under the
aegis of the Planetary Society, a non-
governmental organization, which will orbit
the Earth for a year.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2
51. Consider the following statements in the context
of “North American Aerospace Defence Command’:
1. It is a joint organization of United States of
America and China.
2. It was established on 12th May 1958.
3. Its headquarters is situated in Colorado
Springs (America).
Which of the statement(s) given above is/are not
correct?
(a) 1 only
(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3
52. Which of'the following countries has launched the
commercial rocket, Hyperbola-1 ?
(a) India (b) China
(c) North Korea (d) Russia
53. Which of the following statement(s) is/are correct
in the context of ‘Microsatellite’?
(a) The microsatellite is generally shoebox-
shaped.
(b) They help a company or organization in
monitoring weather systems, crops and
disaster sites etc.

(c) They can be utilized for research purpose as
well.

(d) All of the above.
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54, frafafad woml W faar st
1. ek T A FFhidH & el T=rel &
T A & ded sigfed R 2
2. T9hIEA did o Wi B 9l T Toshalise
2, foad e rn S R
3. frhidH ® v U SderR, SEF 0T 9T
Eicld
ST weH W W wHA-FA TE B2
(a) Hae 1 (b) eet 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3
55. ' RAT @I e TS A WiHeor’ & ded |
frAfafea wul ® faar wifa:
1. ST TATTT WTE HYET SR A stfufem,
2006 % &G HI T T
2. 3H W0 & HHRSl & IR, Uhee
Fe ffar wufEl & a7 s
T SR T I e W AT T ST
Exeicalcoti il
3. 39 WLl & wrEaad St Tt @
Ts IRER HeA T H 2

STE wedl ¥ ¥ wE-9 G R?
(@) 1,2 33 (b) Hee 1 3R 2
(c) Fadl 2 AR 3 (d) o 1 3R 3

56. ‘JATAN’ WieeRR & §ed # frefarad wem
R fa=r wifsa:

1. € T UH WP B, S AN Suererd
# fo fefSea gug yaem yomett & fmfo
1 TeH S

2. T8 Hiwam g0 ferd ¥R %R SdeuHe
forerfia ferem T 21

SudE el W W wE-"/A HE 2?2

(a) T 1 (b) ®aa 2

(c) 1 3R 2 gt (d Fd 1, T2
57. ‘e wmee’ & Ged H frefafed wut w faar

Hife:

1. B € § UG 1 Go ekl 3 wed
&N gele YF Sihe, T Hea’ &l T
feoett H ST Setieme e Ted-2019
o e fepan e 2

2. 39 goie Y Sk &l a9 9.2 foRetum @
R I8 URURh Sehe ! GOl W HIH!
Tl 2

3. 39 o™ Bl dAR HH W T el
el TrefiTen! I WA ST hS
T ot T R

54. Consider the following statements:
1. The State of Karnataka has notified nicotine
under the category A of toxic substances.
2. Nicotine is a alkaloid containing Nitrogen
which is obtained from plants.
3. Nicotine has sedative as well as stimulating
effects.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3

55. Consider the following statements in the context
of ‘Food Safety and Standards Authority of India’:

1. It has been established under the Food
Safety and Standards Act, 2006.

2. According to the norms of this authority, the
packaged food manufacturing companies
will be allowed to use ‘Trans Fat Free’ logo
on their outlets and products.

3. The responsibility of implements of this
authority lies with the Ministry of Health
and Family Welfare.

Which of the statements given above are correct?
(a) 1,2and 3 (b) 1and 2 only

(c) 2 and 3 only (d) 1and3 only

56. Consider the following statements in the context
of ‘JATAN’ Software:
1. It is software which enables the creation of
Digital repository Management System for
Indian museums.
2. This software has been designed and
developed by the Centre for Development
of Advanced computing situated in Pune.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2

57. Consider the following statements in the context
of ‘Bhabha Kavach’:

1. Recently India's lightest and cheapest bullet
proof jacket, 'Bhabha Kavach' has been
launched at the International Police Expo-
2019 held in New Delhi.

2. The weight of this bullet proof jacket
is 9.2 kg and it is much lighter than the
conventional jacket.

3. The carbon-nano material technology used
in the preparation of this shield is derived
from Bhabha Atomic Research Center.
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IwfE w9 9 SE-FUA TE 282
(a) % 1 (b) Fae 1317 2
(c) ®ad 2 3R 3 (d) 1,2 3R 3

58. ‘AR SR ST TEA SEAH S der’
% Ted H frAfafad ol W faur wifsa:
1. 39 A & YEAT 39 STTHEH Sl T el
T & ford a1 7 7, S ferelt 7 ufeheu
a1 e &% fod ofih ¥ g gHiEe
WA #R W@ 2
2. T AN w1 wE 3T FEE 1 o
F B S HSREA B A &S, TS AR
YRS, ¢ Icqa) SR YrenfieRt i S
T Thd 2
ST For H§ 9 BHA-TUA TE /2
(a) ®ad 1 (b) Had 2
() 1 3R 2 gt (d Fd1,7€2
59. ‘T @R Soifedl orfEum aiE’ & el o
frfafaa wol ® faar wifsa:
1. & U witatus Feem €, fSEet s
2008 ENI i TS off|
2. 6 SIS i Sreerl e SR WifieRt T,
IRG TR o Ghee g1 S 2
3. %W % GO WH e SR wiEs
Fafre =9 9 & 95w B B
ST Fo H§ § HHA-UA TE B2
(a) ®aa 1 (b) wae 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3
60. STerary afterdd W SH-TeHT e (i)’
% Ty H fAfafad ol W faur wifs3:
1. THHR T Y T e HEHH ST
fava drem gwed grr ad 1988 | Wi TE
off|
2. 3H g fomer | 2l
3. 39 99 SEALHLH. 7 Tee IR ey
Ifads Heet fue #1 9ff &9 | wfka
e B
IwfE w9 9 SE-FUA HE 22
(a) Faa 1
(b) hee 1 3R 2
(c) ®ad 2 3R 3
(d) 1,2 3R 3

Which of the statement(s) given above is/are
correct?

(a) 1only
(c) 2 and 3 only

(b) 1and 2 only
(d) 1,2and 3

58. Consider the following statements in the context
of ‘Scientific and Useful Profound Research
Advancement (SUPRA)’:

1. This scheme has been launched to promote
those researches, which provide ‘out-of-box’
solutions for a new hypothesis or challenge.

2. This scheme serves to finance those
proposals which can give rise to new sectors,
new scientific concepts, new products and

technology.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1, nor 2

59. Consider the following statements in the context
of ‘Science and Engineering Research Board’:
1. It is statutory body which was established

through Science and Engineering Research
Board Act, 2008.

2. This Board is headed by the Secretary of
Department of Science and Technology,
Government of India.

3. Senior government officials and famous
scientists are the members of this board.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(¢) 2 and 3 only

(b) 1and2 only

(d) 1,2and3

60. Consider the following statements in the context
of ‘Intergovernmental Panel on Climate Change
(IPCC)’:

1. It was established in the year 1988 by the
United National Environment Programme
and World Meteorological Organization.

2. Its headquarters is in Geneva.

3. This year IPCC has focused its Report on
Climate Change on Land Sector for the first
time.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1,2and 3
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61. Frafafaa wudl | four *ifse:

1. TR ¥ WeRy T8 &1 JAae S
gl g, Rt off =8 wergiy Siorg aiteda
Y wgd sAfuen e 2|

2. STHIhHT 1 SRR & IO hicee § MHA
2, o =l ad w gafqy w1 st
e SUCTH Bl R

3. I & Th RO & STER, 3Thisk! § @
T H 80% Tk RN THH 1 YAM

Bl B
IwfE w9 9 SE-UA TE 287
DEESE! (b) wae 1 3R 2
(c) ®ael 2 @R 3 (d) 1,2 3R 3

62. fefafaa sl | faar wifsa:

1. IR GrEifient S, 7EE & e
q Yecll IR TS & ®Y H Hges ©id hi
TN Y e SRR A delt @
frrfor fman 21

2. faferm smm a2 o fafoem see s
aEd BId §, e FE A o2 |
AFE AP A6 EF H1 HE HW B

ST HoAl § 9 wH-GUA TE /22
(a) A 1 (b) Fa 2
(c) 1 3R 2 <+ (d Td@1, T2

63. ‘faelt gz1 yaem eifufem’ & ded o fmAfafea
FoAl § ¥ HE-T/A wE 22?2
1. 98 Uk AR A 7, S e e
1 STt v < B
2. T8 TH AH HA €, S FRwmed &
el i eFfa ®9 @ Sig-vgaa
FH, IBA® HH AR A @

AfehR 2 2l
hd:
(a) Haad 1 (b) HaA 2
(c) 1 3R 2 <+ (d Fd 1,782

64. BT € § A9 ST wIEATETe w1 S o
Wit ‘Tenfa’ e TE STwSe WX Higd
1 YA HI T W Hed § Fefafea sl
R fa=r wifsa:

1. ‘wenAfq’ uw sl e a1 T8 Wi
e € S Al SR B HREE hl
e fefSea wrHfaaa afdds o gefua
T H Gd e ¥ W 98 % 9@y
e FH H FerEd wam|

2. URY H 3@ suan faw foxia e | e
ST T A% H 3HeRT AN AR, e
Tl SR 3 e | fepan S

61. Consider the following statements :

1. The emission of Greenhouse gases is
minimum in Africa, still this continent is
heavily affected by Climate Change.

2. Most of the area of Africa is included in
the Tropical region where extremely high
amount of insolation is received throughout
the year.

3. According to a report by UN, up to 80%
biomass fuel is used for cooking food in

Africa.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

62. Consider the following statements:

1. The researchers at Indian Institute of
Technology have built a rechargeable Iron
Ion battery using mild steel as anode, for the
first time.

2. In Lithium ion battery, lithium ion is the
carrier off charge while in iron ion battery,
the Iron ion serves as the carrier of charge.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

63. Which of the following statement(s) is/are correct
in the context of ‘Foreign Exchange Management
Act’:

1. It is civil law which gives quasi-judicial
powers to the Enforcement directorate.

(b) 2 only
(d) Neither 1, nor 2

2. Itis a criminal law, which gives the officials
of the Directorate to investigate, interrogate
and fine provisionally.

Code:
(a) 1 only
(c) Both 1 and 2

(b 2only
(d) Neither 1, nor 2

64. Recently, an account aggregator model named
‘Sahamati’ was introduced in the category of Non-
Banking Financial Company. In this context,
consider the following statements:

1. ‘Sahamati’ is an umbrella body or account
aggregator group that will help individuals
and small businesses to securely share data
related to their digital financial services
with third parties.

2. Initially it will be used only in the financial
sector and later it will be used in telecom,
healthcare and other sectors.
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IwfE w9 9 SE-FUA TE 282
(a) o 1 (b) Faa 2
(c) 1 3R 2 gt (d Fd1,7€2

65. W 2019 § R fd S gR S @iNe
HI remed W Uk @fafa o1 we fewEn wan em
9 |fufq &1 & o1
(a) STIASIT TUY AR § RAT g1 1 ferar
7 oTevas Hifdal a9H & fod ggma <

(b) W srefereen & fo@ w=q iR e
1 3 HE

(c) WSS & 1 da1 wal i faxia feafa
T THIE

(d) SfRT & | gur e

66. A1 fecliated ®REE (TASIU®) & H3d o
frafafed wol W foer Fifsa:

1. 3{YaEH SR 1 AR T THEITE arIR)
% ®9 § Hefda fean s 2
2. TEE T fadeh g Sfefed ey @,
oo qea |1 v afos &t ai@ | fedt
& T wWie W R TR F IREE-YIH
FE & o geHd B 2
IwfE FUAl W 9 SE-FUA TE 282
(a) FaA 1 (b) Fad 2
(c) 1 3R 2 gt (d Fd 1,782

67. ‘frafga s = fagas, 2019 & 934 o
frafafed wol W foer #ifsa:

1. 91 G&A 359 A A aTcl Fererehl &l
TSt wHiE @ = 2

2. fadg® o %7 3 TF WHR, IH1 1 FEd
TN 1 AT T T B

3. 39 fag9ues &1 3w § 39y ®Y W o
SH A Al el W AR  hEd &
o) %% #1 AR ¥ @ T R

IwfE w9 9 SE-UA HE 287
(a) ®ad | (b) eet 1 3R 2
(c) ®a@ 2 3R 3 (d) 1,2 3R 3

68. % WHR TR ¥F A frarer erfuftam

(fuauem) # 9oy &1 stfageT Sl &t T

21 39 HeleA % Ged H frefafed wud w
fo=m =wifs3:

1. I8 GENEE o9 IMEA I @IHT T hi

goft T 2l
2. I8 HIMEH oF e & qHel 9 f9ed &
o1 gorda FReIer™ i |9 S|

Which of the statement(s) given above is/are
correct?

(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2

65. In February 2019, a committee under the
chairmanship of Usha Thorat was formed by the
Reserve Bank of India. The function of this
committee was-

(a) To give suggestions for making necessary
policies for the stability of Indian currency
in the offshore rupee market.

(b) To assess savings and investment for the
Indian economy.

(c) To review the financial position of public
sector oil companies.

(d) To improve banking sector.

66. Consider the following statements in the context
of Non Deliverable Forward (NDF):

1. Offshore markets are often referred to as
NDF markets.

2. NDF is a foreign exchange derivate contract
under which two parties agree to, on a date
in the future, exchange currencies for any
given spot rate.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2only
(d) Neither 1, nor 2

67. Consider the following statements in the context
of ‘Unregulated Deposit Scheme Bill, 2019’:
1. Its main purpose is to save investors with
low income from Ponzi schemes.
2. The bill provides both the centre and the
state governments the right to make rules.
3. This Bill has been introduced by the Centre
in order to put a curb on the schemes taking
illicit money deposits.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3

68. The Central Government has issued a notification
for amendment in Prevention of Money Laundering
Act (PMLA). In the context of this amendment,

consider the following statements:
1. This amendment places money laundering

in the category of ipso facto crime.

2. This amendment will empower the
Enforcement Directorate to deal with the

cases of Money Laundering.
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3. o HEwqul W ¥R 17 (deret iR
IRGA) SR um 18 (afsai &1 qomsn)
I -9 (1) % T i €S 2

g sl § W wA-G/d T 2?2
(a) ®aa 1 (b) e 1 3R 2
(c) Taa 2 3R 3 (d 1,2 3R 3

69. Freafafad womi R faar Fifs:

1. THE & RO & I99R, wRa g ®
FeH SEAFES (SO,) 1 Tl wgl
I e ol

2. ANd dfYas TR U HEESAd oWl
TEATFAES IS H 15% § Al @
FANEE < 2

3. 9rd H SO, & Halfueh IcEsH whizel
e feR whie g fehar s 1

ST wme W W BHA-A TE B2
(a) e 1 (b) e 1 3R 2
(c) Hae 2 3R 3 (d 1,2 33

70. ‘THIHT TAL.SLTE. (= Scadq fawm
wrfaar) ' afEee & el | frefafaa wemf
R fa=r wifsa:

1. 39 FEHA A1 & I3 THIHT < &
wELH., (I fAuifa aeE) w6t
wefierae & fod Hifema it ST
TEAN Y HET R

2. 7% Td g, fava §« IR W weAnt
Z9if gro ferdifia 21

ST Forl H 4 HHA-TUA TE T 222

(a) & 1 (b) wae 2

(c) 1 3R 2 gt (d T 1, T2

71. ‘E-fame’ & Hed o ffafed weml W R
e

. T8 T o8 e fead €, s @
eI, Hidef, Temgenia, o, foed
g &1 T S T wOE S el

2. Ig feamey weelt IR 9 2004 § <=1 SR
¥ 'darn & WY fowed’ & ®9 A a4

T off
3. god U A 3-TamReE w1 ety wiftd TR
2
SUge el § W wA-G/d T 22
(a) e 1 (b) ®aa 2
(c) ®ad 2 3R 3 (d 1,2 3R 3

3. The most important amendment is to
remove the provisions of subsection (1) of
the Section 17 (Search and Seizure) and
Section 18 (Search of persons).

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3

69. Consider the following statements:

1. According to the report by Green Peace,
India is the biggest emitter of Sulphur
Dioxide (SO,) in the world.

2. India contributes more than 15% in the
emission of manmade Sulphur Dioxide on
a global scale.

3. The maximum emission of SO, in India is
done by the coal-based power plants.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1and2 only

(d) 1,2and3

70. Consider the following statements in the context
of “‘Africa LEDS (Low Emmission Development
Strategies)’ Programme:

1. The main objective of this programme is
to provide policy and structural support to
the priorities of NDC (Nation Determined
Contribution) of the African countries.

2. Itis financed by the European Union, World
Bank and sixty supporting Nations.

Which of the statement(s) given above is/are not
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2

71. Consider the following statements in the context
of ‘E-cigarettes’:

1. It is a battery operated device that forms
an aerosol by heating a mixture of liquid
nicotine, propylene, glycol, water and
glycerin.

2. This device was first sold in the Chinese
markets in 2004 as a 'healthy alternative to
tobacco'.

3. The state of Punjab has declared e-cigarettes

illegal.
Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only
(c) 2 and 3 only (d) 1,2and 3
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72. 3HU AUl aRel HufwAl i idRe & FeR W
TN YR w0 # o el o @R H
Jeash T Y @ 21 3H Hed # frefated
Fo § ¥ HiA-G/A G /e

1. I€ Jeoas el frufqms S 3K
vayE e & qgd Tenfud feen smom
2. T &% IIER, JoaiR | Tfa sty
Tedl-affesiae. ST TR 38 RS &1

g fezm =z
hd:
(a) ®ad 1 (b) Faad 2
(c) 1 3R 2 < i (@ Fd@1, T2

73. “3fhen’ & el o Frefafad sl § 9 sE-dy
¥ wEl #r2?
1. 98 TP Th. T SMRIH.TA. &I
T G wEHHRT
2. THH! T TW 1976 H AR &
YU TS o SN g &1 TS R

3. T8 U FAUE eae 7, et g

afe, g#. H 2
h:
(a) ®ad 1 (b) wae 1 3R 2
(c) ®ad 2 3R 3 (d) 1,2 3R 3

74. ‘CITES' & §3d ¥ fr=fafEad womi | fo=m
Hifer:
1. 98 ogsiel 3R oedfaal i Hehera=
et & AT MR W <9 % "
TH THA T
2. T gEEEl 1 e, 1975 ¥ @ @l
3. 9RA TR 1976 B THY WiHA gam iR
70 gued o e eF o 256 wee
Rl
4. od9M ¥ CITES & Uil &1 §& 194 2|
Stde w9 W wE-9 T 2?2
(a) Facd 1 A4 (b) Howd 1,231 3
(c) ®ael 2,3 3R 4 (d) 1,2,3 3 4
75. ‘= v gfea fafaee (Tua.smEua.)’ & dad
¥ frfafad so | faar Fifsa:
1. % ‘Ufes FOREA’ ® 9% T B g
eI I 2
2. W 2019 ¥ ‘H T tfew fafmes’ @
STfYhINe: €9 9 SeE H 3gemed foha
IR N

72. ISRO is setting up a network of telescopes and
radars to protect its space assets from space wastes.
Which of the following statement(s) is/are correct
in this context?

1. This network will be set up under the
Directorate of Space Situational Awareness
and Management.

2. According to ISRO, the state-of-the-art
multi-object tracking radar installed at

Nellore will be a part of this project.
Code:
(a) 1 only
(c) Both 1 and 2

(b) 2 only

(d) Neither 1, nor 2

73. Which of the following statement(s) is/are correct
in the context of ‘“TRAFFIC’?

1. It is a joint conservation programme of
WWF and IUCN.

2. It was established in the year 1976 by the
Species Survival Commission of TUCN.

3. It is an international Network whose
headquarter is in Cambridge, UK.
Code:
(a) 1 only
(c) 2 and 3 only

(b) 1and2 only

(d) 1,2and3

74. With reference to ‘CITES’, consider the following
statements:

1. It is a treaty among the countries on the
international trade of endangered species of
wildlife and flora.

2. This agreement is in force from 1 July 1975.

3. India joined it in October 1976 and became
the 25th member to join the agreement.

4. At present, the number of parties of CITES
is 194.

Which of the statements given above are correct?
(a) 1and 4 only (b) 1,2 and 3 only
(c) 2,3 and 4 only (d) 1,2,3and4
75. Consider the following statements in the context
of ‘New Space India Limited (NSIL)’:
1. It is the second commercial wing of ISRO
after 'Antrix Corporation'.

2. New Space India Limited was officially
inaugurated in Bangalore in May 2019.
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3. 3O ST TR 5N TR MU ergEuE SR
foreRTa &1 YT IR SR T GERR &
ey § aifvis Swdl & ol & j

ST woAl § 9 BA-E/E T 2R

(a) Faad 1 (b) el 1 3R 2

(c) ®ael 2 3R 3 (d) 1,2 3R 3

76. ffafed ¥ ¥ ARdE AFYT 1 TATd HE

Al e 9 ©-

1. TEHAl SR A

2. feg wemmR fgya

3. Ued Sferd Ao

4, =ghama fadfor

5. ST €M

h:

(a) ®aet 1 @R 5 (b) ®ad 1,23 5

(c) Fael 1,4 35 (d) 1,2,3,4 3RS

77. TEH § 91¢ H1 aGRaORal & Hed H frefated

FAl W =R Fifee:

1. 39| &I Y-3THfd sHh! i a1 gau
EEICI

2. 318" Tk U 3R i =1t €, forent st
=g 80 ¥ 90 ferefl. 21

3. foead, qeM, swevmea wew iR fafern
a7f &= @ 9ft g owm &t R €, S
EH H M STl oG %1 Th SR 2

g weAl § W wA-G/d T 22
(a) ®aa 1 (b) e 1 3R 2
(c) ®ad 2 3R 3 (d 1,2 3R 3

78. Frafafad wul w| four +ifse:
1. geat &1 Ja&iE &9 ofde ®R § 9
S B, S S e | 2l
2. el 1 FaH &5 el wlenay B SRE
AT yeterar i aeerd @l 2
3. odud H SO YO yd gEefEr &

HAE-TH 2
ST wedl ¥ 9 wA-E/A T e 28
(a) Faad 1 (b) el 1 3R 2
(c) ®ael 2 3R 3 (d) 1,2 3R 3

79. ‘ufy=dht e’ & gl ¥ frefafad s | fomm
EAISRE
1. aft=t = arsit Ta1 9 o HARAR a9
IRA & 6 T~ dAMHerg, HHiesh, Hid,
e, HeNg R TNE | e 2l
2. Ufy=H =1e WRA & GaW Y au) ol &5
49w 2

3. Its purpose is to wuse research and
development done by ISRO for commercial
purposes through participation of Indian
industries.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and2 only
(c) 2 and 3 only (d) 1,2and3
76. Among the following, the factors that influence
the Indian Monsoon include are—
1. El Nino and La Nina
Indian Ocean Dipole
Madden Julian Oscillation
Formation of Cyclones

A

Jet Stream

Code:
(a) 1 and 5 only (b) 1,2 and5 only
(c) 1,4 and 5 only (d 1,2,3,4and5
77. Consider the following statements in the context
of frequency of floods in Assam:

1. The landform of Assam makes it more
flood-prone.

2. Assam is a U-shaped valley with an average
width of 80 to 90 Km.

3. The land slope of Tibet, Bhutan, Arunachal
Pradesh, Sikkim etc regions is towards
Assam which is one of the reasons for
floods in Assam.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and2 only
(c) 2 and 3 only (d) 1,2and3

78. Consider the following statements :
1. The magnetic field of the Earth is found in
its internal core which is in solid state.
2. The magnetic field of Earth keeps changing
its polarity over long time scales.
3. Presently, the north magnetic pole is
somewhere near Siberia.

Which of the statement(s) given above is/are not
correct?

(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

79. Consider the following statements in the context
of “Western Ghats’:
1. The Western Ghats extend from the Tapti
River to Kanyakumari across 6 states of
India - Tamil Nadu, Karnataka, Kerala,
Goa, Maharashtra and Gujarat.
2. The Western Ghats is one of the least rain
receiving regions of India.
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3. ufyerlt U W TiEd, $Om, ®ed SR
it Afeat 1 sgm g 2, S Hel <fam
R 1 =g i Sfed @ 2
ITE weAl § 9 BA-A/A TE 2R
(a) ®ad | (b) Hee 1 3R 3
(c)Haad 2 3R 3 (d) 1,2 3R 3
80. e IR HEqOTH FiHfa w1 srqiansi & weo
¥ freafafed weml w foem Fifse:
1. mefim gfafa 7 afved = & fa 3=
el HAgAeiel S (ESZ) 1 fo=r w@n
o, fsed ESZ-1 & &3 H fwdt off y&R
Ft AFeta wfafafest w1 foy fe e
2. HEEH |Efd 7 ESZ &1 S faeesE
T &I gL Rl IRTH TS H 37% & Hl
ESZ =ifya feram
3. mefa wfafa & el @ft R &
I 1 foay foran, ot e |fAfd
T TEgl W Rl &t ergAfd

Swde wAl W 9 SE-"/A TE 27
(a) e 1 (b) ®ae 1317 2
(c) Faer 2 3R 3 (d) 1,2 3R 3

81. U feudedsd oA & ded # fr=fafea
HoAl W fomm wifsE:
1. 98 T Haurtien R )
2. THHR! T TR AeqH&E AN
sifafem, 1992 & T&d i T8 off|
3. sifufem & ouR, fRdt off T+ S
FHA I AR ® IH EH S

TSR i
ST el ¥ W wiA-E/A " T 287
(a) ®ad 1 (b) wae 1 3R 2
(c) ®aet 2 @R 3  (d) 1,2 3R 3

82. ‘dH damek fages, 2019 & wed ¥ f=fafed
FHeAl R faamr Hifsa:
1. 39 fadme § @9 qoe & RS
Y Hfd Y ¢ I & ford a9
1 S 1 JEEE femar T
2. 39 fadas & ¥/ 3 & oER, fafed =
fordt ot soleeite fafy @ & @y =
qelleh kel ST g IR-SHA AT
3. fagee & o R, ufeede i difgar =1 ua
G & 9% Golg HIH SR G 9

R g
SUgF weAl ¥ W wH-G/A w22
(a) ®aa 1 (b) a1 3R 2
(c) ol 2 @R 3  (d) 1,2 @R 3

3. The Godavari, Krishna, Kaveri and Periyar
rivers originate from the Western Ghats,
which are the lifelines of irrigation in entire

South India.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 1and 3 only

(c) 2 and 3 only (d) 1,2and3

80. Consider the following statements in the context
of recommendations of Gadgil and Kasturirangan
Committee:

1. The Gadgil Committee had proposed the
idea of three environmentally sensitive
zones (ESZ) for the Western Ghats, in
which any human activities in the area of
ESZ-1 was prohibited.

2. The Kasturirangan committee declared
37% area of the total Western Ghats as ESZ
without categorizing ESZ.

3. While the Gadgil committee opposed
all types of power plants, Kasturirangan
committee allowed hydro power projects.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

81. Consider the following statements in the context
of National Minority Commission:

1. It is a constitutional body.

2. It was established under the National
Minority Commission Act, 1992.

3. According to this Act, the commission will
have rights equivalent to a civil court while
examining any case.

Which of the statement(s) given above is/are not
correct?

(a) 1 only (b) 1and2 only

(c) 2 and 3 only (d) 1,2and3

82. Consider the following statements in the context
of Triple Talaq Bill, 2019:

1. Declaring triple talaq as a non-bailable
offense, this bill provides for three years of
jail for men.

2. According to section 3 of this bill, it would
be illegal and unlawful to say three talags
simultaneously by written or any electronic
method.

3. According to the bill, the magistrate will
have the right to settle and give bail after
hearing the victim's side.

Which of the statement(s) given above is/are
correct?

(a) 1only

(¢) 2 and 3 only

(b) 1and 2 only
(d) 1,2and3
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83. B & H 9Rd & Ty Tsw H Wi fefam i
R forferm & fovg fadas i@ =% 9= e
TSIl ST st feran T 22
(ORER
(b) TTEIH
(c) T W9
(d) faferm

84. 'UiSiR ARE- AW’ & Hed o frAfafed o
¥ wE-|/A wE 2R
(a) TTHOT fohTE A g 39 WS i Y

2015-16 ® & fwan =

(b) 3TF T&d 15 ¥ 35 6 i g o P HeIe
1 HIvTel FI¥TEOT YgM fohar S 2

(c) T8 S T ATy ok € wied €, S 100
@ &1 W U H Gh 2

(d) ST qefhl

85. ‘wuE (fafre) fage, 2019 & ded o
frfafaa wol ® faer wifa:

1. =9 fag=s o =aadfas S ™ gfaey
T T T WU dE Te T WA
e ® TS H Y@ 2

2. 7E fadaes Wysdl SAE @ fafEtha
T & q ATk TRATE hl H vl
% WY FAfd 3 R

STE wodl ¥ 9 HA-A/E T 22

(a) FaA 1 (b) HadA 2

(c) 1 3R 2 <+t (d Fd@ 1,792

86. frfafad womi W faur wifs3:

1. YR Gfaem & ST=a% 124(2) & THR,
Halea =maed & e e i
Tezafa g w1 S 2

2. IAUM | Hated <A™ B AmRnefen i
FHA G 31 W TR 34 HH H1 A
foran e 2

3. a9 1950 H TUYAT % 9HY aisd e
% RN i A G 8 off|

STE oAl § 9 HA-T/A T 2/e?

(a) ®aad 1

(b) e 1 3R 2

(c) @aet 2 3R 3

(d 1,2 @R 3

T remEn | e 2
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83. In which Indian state, were Mob Lynching and
Honour Killing recently declared cognizable and
non-bailable offences by passing a bill against
them?

(a) Bihar

(b) Rajasthan

(c¢) Madhya Pradesh
(d) Sikkim

84. Which of the following statement(s) is/are correct

in the context of ‘Project LIFE- MGNREGA’?

(a) This project has been launched by the
Ministry of Rural Affairs in the year 2015-
16.

(b) Workers of the age 15-35 years are provided
skills training under this.

(c) It is limited to those MGNREGA workers
who have completed 100 days of work.

(d) All of the above.

85. Consider the following statements in the context
of Surrogacy (Regulation) Bill, 2019:

1. Inthis bill, there is the provision for banning
commercial surrogacy and constitution
of National Surrogacy Board and State
Surrogacy Boards.

2. This bill regulates altruistic surrogacy and
allows commercial surrogacy with some
terms and conditions.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1, nor 2

(a) 1 only
(c) Both 1 and 2

86. Consider the following statements :

1. According to Article 124 (2) of the Indian
Constitution, the judges of the Supreme
Court are appointed by the President.

2. At present, it has been decided to increase
the total number of judges in the Supreme
Court from 31 to 34.

3. At the time of its establishment in the year
1950, the total number of judges of the
Supreme Court was 8.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1,2and 3
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87. ‘7 feoell siaRidia Hemweml &y (TISISTETE)
fagaer, 2019 & dWed # fAfafed wol W
fa=r wifsE:

1. 39 fasgs & "Wean 9 UASTeTSTEr Wi
LR, re-a=r 3R Holg hrEamel i
vIfeRal R T ST

2. 8 fadas TAESIeTEuHr 1 U Hew
e off Hiftd e 2

3. TASISTEUHT & US&l 1 SEhIa o oot
TN, W & A A & a7l

IwE w9 9 SE-FUA w1 82

(a) ®ad | OEESRE )

(c) Faal 2 3R 3 (d) 1,2 3R 3

88. ‘YUMHA oY AR AF-F A’ & ued o
frfafed wol W foer #ifs:

1. 9% Halas ¢ Hi TIT e HaH Gaa
FREOR HH el HRER a1 0 fRd
ITH W T AN TH AN & dgd UIH &
EIEful

2. 18 ¥ 40 =¥ &1 HIE o HRER 9 AlSHl
T A 33T I

3. TE AN &I 22 HE, 2019 ¥ YR HEA

T R
TR woR T Y FA-EA T 3
(a) ®ad 1 OEESRE )
(c) Faer 2 3R 3 (d) 1,2 3R 3

89. ‘SME.A.TH. WrR=a' & w3y H fAfafad swemi
T foar Fifsa:

1. 'STETATE. AFREAM’ Y & STEEE Ud
T HeA w1 Uh YHE FANEIel- e
ifer T TR o= TR (THdeTe)
wifea gru fesiesd e faefaa foman o 21

2. IE IRAE S &9 § TRErRE STHU
AT T G I IR Hgg-Gee
e THiNa W o TSI 1 Fera
Hl B

STE wodl § 9 HA-T/A T 2R
(a) Faa 1

(b) Haa 2

(c) 1 3R 2 <+

(a1, T2

T remEn | e 2
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87. Consider the following statements in the context
of ‘New Delhi International Arbitration Centre
(NDIAC) Bill, 2019’:

1. Through this Bill, NDIAC will be given
powers of arbitration, mediation and
conciliation proceedings.

2. The Bill also declares NDIAC as an

institution of national importance.

3. The members of NDIAC will have a tenure

of three years, as well as be eligible for

reappointment.
Which of the statement(s) given above is/are
correct?
(b) 1and 2 only
(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

88. Consider the following statements in the context
of ‘Pradhan Mantri Laghu Vyapari Maan-dhan
Yojana’:

1. According to this, the businessmen or those
engaged in any of their enterprises doing
retail business up to one and a half crore
rupees will be eligible for pension under
this scheme.

2. Any businessman from 18 to 40 years can
can take advantage of this scheme.

3. The scheme has been considered effective
from 22 March 2019.

Which of the statement(s) given above is/are
correct?

(b) 1and2 only

(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

89. Consider the following statements in the context
of ‘INS Sagardhwani’:

1. {INS Sagardhwani’ has been designed
and developed by Naval Physical &
Oceanographic Laboratory (NPOL) Kochhi,
a major laboratory of Defence Research and
Development organization (DRDO).

2. It operates oceanic research experiments
in Indian waters area and helps NPOL in
collecting marine data.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1, nor 2
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90. 'LCU L-56' ggurd & dHed # Fr=fafeaa wemt
R foer #ifsa:
1. 78 @18 TRy faffa difen we gfeferd
MK IV 997t &1 ®a1 e 2|
2. 9% whaswd e fift I gof-1 qen 3w
T IO Hiq HREE Med = Rrafaeed
TE Sefifrad fafies &1 10081 Jgd 2
3. 3HH Y@ HE SN 5N HEE 9 qh
3R IUHION 1 o W 2
IwE w9 9 SE-FUA w1 82
(a) ®ad | OEESRE )
(c) Faal 2 3R 3 (d) 1,2 3R 3
91. ‘TRfeie®’ & Wy ¥ f=fafen weml W fa=ar
Hifs:
1. crfeded afeck W 3ferhfem qeh w@ield,
Tt R WS I & SrdeRer § 9w S
g, foo = e ok s o wnfaa
2
2. 3 gewsia stafyew fafewor, i qen e
% Fag HH qIEE H A Sl Tohd B 3R
e & fo off S9eRl dh Sifad ®© Hehd

2l
ST el W W wA-G/H T 22
(a) ®ad 1 (b) A 2
(c) 1 3R 2 <+t (d Jd@ 1,792

92. 9Rd # foqe gsfaAl & ded H fAfafed wemt
R foeR Fife:

1. SSie TR WS & TR, 9Rd o et
%9 Vsl § WivEl s =R SR St

1 TINE TSIl T el bl 2
2. e R aTelt S T feHerEd 99 @i
Tt &+t e foe # TR w9 @

Toheuw it | gefs fhar T 2

ST HoAl § 9 wH-GUA TE /22
(a) Faa 1 (b) e 2
(c) 1 3R 2 <+ (d T@1, T2

93. ‘& W] TE ‘T wefeed’ frefafed 5
¥ frg S F geila 872
(a) (b) feeredt
(c) IR (d) =w@

90. Consider the following statements in the context
of ‘LCU L-56’ warship:

1. Tt is the sixth ship of the eight indigenously
built Landing Craft Utility(LCU) of MK IV
class.

2. Itisthe 100th warship of the Kolkata-based
Mini Ratna Class-I and the country’s leading
shipyard Garden Reach Shipbuilders and
Engineers Limited.

3. Its primary role is the transportation
and deployment of Main Battle Tanks,
Armoured Vehicles, Troops and Equipment
from ship to shore.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3

91. Consider the following statements in the context
of ‘Tardigrades’:

1. Tardigrades are found from Arctic to
Antartica, in environments ranging from
land to marine to fresh water which also
includes extreme depths and height.

2. These microbes excessive
radiation, heat and lowest temperatures of
the universe and can survive for decades
without food.

can bear

Which of the statement(s) given above is/are
correct?

(a) 1 only
(c) Both 1 and 2

(b) 2only
(d) Neither 1, nor 2

92. Consider the following statements in the context
of extinct species in India:

1. Accordingto Wildlife Survey Organizations,
in India, four species of fauna and eighteen
species of flora have become extinct in the
last few centuries.

2. Pink-headed Duck and Himalayan Quail
have been listed in the [IUCN Red List in the
Critically Endangered category.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1, nor 2
93. ‘Common Lineblue’ and ‘Dark Cerulean’ are the
species of which of the following organisms?
(a) Parrot (b) Butterfly
(¢) Monkey (d) Duck
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94, ‘Sl wrEitear’ & Hed o frefafEa st
T foar Sifsa:
1. I8 IRAT aFedfa SheeRdien g @rst T8
T @ Gifad ge7 i genfd 2
2. 9% J&1 3199 & UYAH HIel AT & S
ot &% o qEn T e
3. Sl srEted T S & H THES US
SIS
IwE FUA W 9 SE-FUA T 87
(a) Faa | (b) aet 1 3R 2
(c) Faal 2 33 (d) 1,2 3R 3
95. wgal & T fruRo & day ¥ ffafaa s
T foar Fifsa:
1. &gl & foan &1 R sereee & aoee
% YR T A s 2
2. AU IESH IREYT & ded a9 2100 d
T 99.86% FHA & o= A &M
3. odHEA § hueE § 84% w=d Wl € W
AMRES wgall & Ao ol o1 $3 2
4. AMES wgu feg wemE R | Hed Sfi
T S
ST el ¥ W wiA-E/A " T 287
(a) ®ad 2 (b) HaA 4
(c) ®ael 1 @R 3 (d) ®ad 1,2 3R 3
96. ‘MR wafww' & Hed o frEfatea
FeAl W foEm Fifee:
1. 9% 99Nd HEEIR H hddl @ Tl W U
S AT U e e )
2. g Sien HerEel & g4 ¥ feg werErr |
o TrEglate deg ¥ wEn S R

3. 38 STEEITA g 18 e, 2019 1
Tefd i oA © fae o wnfga fwen

RN
ST werl H 9 HHA-TUA TE TR 222
(a) ®ad 1 (b) wae 1 3R 2
(c)®ael 2 @R 3  (d) 1,2 33

97. ¥E we' & SR H fr=fafed soAl | fo=R
IS

1. 3 9 U% 39 AURTE ¢ S o g
% SN IO el Bl

2. 9Rd ¥ yigad @ 9 fafeas < © U
1 IS Bl B

3. I8 AN Y § Ted A e ©, e
pH HH 10 & 13 q% &l 2

94. Consider the following statements in the context
of ‘Dracaena cambodiana’:
1. Itis species of blood-oo0zing tree discovered
by Indian plant researchers.
2. This tree has been found in Dongka Sarpo
area of West Karbi Anglong in Assam.
3. Dracaena cambodiana is the only pure
species of Dragon Tree.
Which of the statement(s) given above is/are
correct?
(b) 1and2 only
(d) 1,2and3

(a) 1 only
(c) 2 and 3 only

95. Consider the following statements in the context
of sex determination in turtles:

1. The sex of turtles is determined on the basis
on the temperature of the incubation.

2. Under the current emission scenario, by the
year 2100, approximately 99.86% turtle
offsprings will be female.

3. At present, 84% offsprings in Cape Verde
are female, which is the third largest center
of Loggerhead turtles.

4. Loggerhead turtles are most commonly
found in the Indian Ocean.

Which of the statement(s) given above is/are not
correct?

(a) 2 only

(c) 1 and 3 only

(b) 4 only
(d) 1,2 and3 only

96. Consider the following statements in the context
of ‘Chrysomallon squamiferum’:

1. Itis arare snail found only at three places in
the Pacific Ocean.

2. This snail is found in three hydrothermal
vents in Indian Ocean to the east of
Madagascar.

3. On 18th July, 2019 it was included in the
updated Red List of endangered species.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3
97. Consider the following statements about ‘Red
Mud’:
1. Red Mud is a solid waste generated during
the Bayer process.
2. India produces around 9 million tonnes of
Red Mud every year.
3. It is extremely alkaline in its nature, having
a pH value of 10 to 13.
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IwfE w9 9 SE-FUA TE 282
(a) ®aa 1 (b) Wee 1 3R 2
(c) ®a@ 2 X3 (d) 1,2 3R 3

98. E.H.H. BN fe WM den THE ‘'lA oATh
9§ e adE e B
1. 9 dgare
2. fowm foz =<
3. A Haa
4. g MRl
5. dRa et
6. TEA 3o
7. wfaa <a
e
(a) ®ad 1,2,3,4,6 3R 7
(b) e 3,4,5 3R 6
(c) ®ad 1,3,4,5,6 3R 7
(d) o 1,4,5 37
99. fr=fafad g | faar =ifsa:

A U FEHITT A

1. SerER-1 - fruETerst-Ht 2

2. " gifue - dirHueet-H 18

3. HEE-2B - duEuEE-E 6

4. -1 - diuEueEt-H 19
S gl W W HE-H/A wE gafea @ 2/
&2

(a) 9 1 (b) Haet 2 3R 3

(c) Had 3 (d 1,2,3 3R 4

100. ‘fowr anfefer <= (Fenem) sifafTem, 2019 &
Hed o frfafed wul ) fa=ar #ifsa:

1. o& gumed effufem faoiw enfefs <
afufem, 2005 o Eeed wa € iR 2
o, 2019 1 YEAMG ALARIT Hi
wfeenfua s 2

2. w8 Afuftam fafd & agen <« fad
forgr arfefr S w1 o, faemE Sl
WeUH Bq WM w8

ITE weAl § 9 BA-E/E TE 2R

(a) ®aA 1

(b) Had 2

(c) 1 3R 2 <+

(a1, T2

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 1and2 only
(c) 2 and 3 only (d) 1,2and3

98. The Indian cricketer included in the ‘Hall of Fame’
award given by ICC, are:

1. Sachin Tendulkar
Bishan Singh Bedi
Anil Kumble
Sunil Gavaskar
Saurav Ganguly
Rahul Dravid
Kapil Dev
Code:

(a) 1,2,3,4,6and 7 only
(b) 3,4, 5 and 6 only
(c) 1,3,4,5, 6 and 7 only
(d) 1,4, 5 and 7 only

NS kWb

99. Consider the following pairs:

Remote Sensing Launch Vehicle
Satellite

1. OceanSat- 1 — PSLV-C2

2. Megha-Tropiques — PSLV-CI18

3. Cartosat-2B — PSLV-Cé6

4. RISAT-1 — PSLV-CI19

Which of the pair(s) given above is/are not
correctly matched?

(b) 2and 3 only
(d) 1,2,3,and 4

(a) 1 only
(c) 3 only

100. Consider the following statements in the context
of'the ‘Special Economic Zone (Amendment) Act,
2019’:
1. This amendments Act amends the Special
Economic Zone Act, 2005 and substitutes
the ordinance issued on 2nd March, 2019.
2. This
establishment,
management of Special Economic Zones to
promote export.

ordinance  provides for the

development and

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1, nor 2
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